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.ged(ro, 11) = ged(ry, rp) = -+ = ged(rm—1, I'm) = I'm

Input:a>b>1

Output: gcda,b)

I‘0=a
I'1=b
m=1

whiler, # 0

m=m-—1
return r,

- Am = ['m-1/Tml
'm+1 = I'm-1 — QI'm
- m=m+1

Algorithm (5.1y: Euclidean algorithm

gcd(rg, ) = Iy ols i,
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1160718174 | 316258250 | 3 211943424
316238250 | 211943424 | 1 104314826
211943424 | 104314826 | 2 3313772
104314826 3313772 31 1587894

3313772 1587894 2 137984
1587894 137984 11 70070

137984 70070 1 67914
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Algorithm (5.2y: Extended Euclidean algorithm eGCD
Input: Integers a, b witha>b >0
Output: (d,X,Y ) with d = gcd(a,b) and Xa + Yb =d
if (bla)
return (b, 0, 1)
else

r=amodb
(d,X,Y) = eGCD(b, 1)
return (d,Y,X — Yq)

i T q; X; Y
-1 | 1757 1 0
0 550 0 1

1 109 3 1 -3
2 5 5 -5 16
3 4 21 106 -339
4 1 1 -111 355
5 0 4

Modular iy bt 5.2.4
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5 o [190301 mod 100] = 1 Jigs, . [1093028 mod 100] = 28 Uil ¥yl ppn
[28.1 mod 100] = 28 _.-

b Sl e 5501 S 5ol oy o)l el Lanendy JlY MO duleall plaivis] 248 iy el Jil) o o
(oL il b g LS opially gl

[a+ b] mod N = [amod N] + [b mod Njmod N 1
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[a—b] mod N = [amod N] — [b mod NJmod N >
[a.b] mod N = [amod N].[b mod Njmod N 3
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[a/b] mod N # [a mod N]/[b mod N]Jmod N

055 e DT s 556 D el suall l5 131 modular sl ge @b el dubes) coslie Gy s o) (Ko
L6 LD ey b MO N sisal) multiplicative inverse 2l sSiad)l 55, b ™! S itbb™ = 1 mod N
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A ssall gyl usSadi o [X MOd N] s, Xa + Yb = 1

Algorithm (5.3): Multiplicative inverse algorithm

Input: N, a
Output: 3~ ¢

(d,X,Y) = eGCD(a, N)

if d # 1 return “there is no inverse”

else return [X mod N]

sl Ol Jos 205 (5.3) duylss o9 @
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Algorithm (5.4): A standard approach for modular
exponentiation

Input: N,a € {0,..N—-1},b>0

Output: a° mod N

x=1

fori=1tob:

X =%x.amodN
return x
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b-1modN =a.a.aP?2 modN = ---

: JI S Lol i a5 ygm #1531 s o)) (Sa

a? modN = a.a

aPmod N = (ab/2)2 Mod N: 5D s loss -

a?mod N = a. (a(b‘l)/z)2 mod N:s3b s bss -

Ay 0(logb) L s 21 W @31 ies olux) (square-and-multiply)s ,s5 duayls> St JLSHI 13s iilus o3

Algorithm (5.5): Square-and-multiply for efficient
modular exponentiation
Input: N,a € {0,..N—1},b>0
Output: a° mod N
t=1
¢ = bl
fori = £ — 1 downto 0:
t=t*mod N
if by =1
t=(txa)modN
return t

(55) Lajly> oy

5761 s Juax square-and-multiply dujylgss 972 63533 mod 11413 olasd ((5.11) e

i | b; t

11| 1 1% x 9726 = 9726

0] 1 9726° X 9726 = 2659
gl 1 5634% X 9726 = 9167
711 91672 X 9726 = 4958
6| 1 49582 x 9726 = 7783
500 77832 = 6289
410 6289% = 4629
301 4629% x 9726 = 10185
201 101852 x 9726 = 105
1] 0 105% = 11025
01 110252 x 9726 = 5761
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(N, p, Q) & Usa= GenModulus(n) ias 1
PLq > 1 z5bems NosalA Jasy 2
W31k 05 P q" = N o511l sl o5 3

i Ol 1 Uis U1 a2 5 A psasdl gd o5 131GeNModulus i as ias Uls s Factoring ol Jsi

l:)r[l::a(:torc/l,GenModulus (n) = 1] < negl(n)

RSA i 5.4.2

S Blas s ol @3 13 ppaidl] malis eaead B I Lt & Y 3l V1 dildl Jalged! Sl s gm0 o)) s
RSA Wliy; 839,015 Adleman 4 . Shamir « Rivest ¢ya JS lgasd 1 b o dles Jundl . Jalgall Jolo Ay dasiye
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ol anall o a5 polan 1 N Jalgs Julows 05 Lais Ll O (N) Gl Jodl o0 6 Sl WE N 6o Losis o
B(N)

D(N) 2,00 0900 tno 15555 aglas D(N) 155 Lois algus RSA dluas 655 s « 550! 08 RSA s opaiiis] @

saall (S cB(N) go Lo Jgl 50e € > 0 s N L8l ! saall bpad oS5 b RSA Wls aelis @
X® = ymMod N o X 105 stl wslias)l (N, €, ) slas sis ems . y/®mod N ol . Y € Z*N
2l s T Jalae JUo) s o3 dgelss GENRSA )1 L s LS Ul &l (S
Jalaalg A wasl) LI L el ub,;s\.(N,e > 0| gcd(e,®(N) = 1,d|ed = 1 mod (/)(N))
N

RSA — inv 4 genrsa (1) RSA 3,

(N,p,q) & U= GenRSA(N) 5i5 1
y < Z*N Sl 2

*
XELyghsbpsis (N, & y) A e 3
313205 X® =y MOd N 51311 0ol gl o5 4

1o NEGL e Wi U1s a2 5 A psasdl gred 05131 GENRSA I i dms s s RSA o s

Pr[RSA — inv 4 genrsa(n) = 1] < negl(n)

Algorithm (5.6): GenRSA
Input: security parameter, n
Output: (N, e,d)

(N, p,q) = GenModulus(n)
O(N) = (p - D(q—1)

find e such that gcd(e, (N) = 1
compute: d = [e™* mod @(N)]

return (N, e, d)

Bl Sas Llelys po N i3 235 GenModulus auj)les e Islzsl GENRSA dj)ls> poass oSz @
(56) imls> 2 GENRSA

e s D (N) Glasm Yl pgis: Sl s RSA Wlean 0,555 < Laghan N Julows )65 Lauss LY
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pfloleil 5.5
158 8 € G yats JSUM Lxs, s G dgid) 5,050 Lpod oS a5 maloxal
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Algorithm (5.7): Generator testing

Input: Group order q; prime factors {pi}%(zl of q;
element g € G to be tested

Output: Decision whether g is generator or not
fori=1tok:

ifgq/pi = 1 return false

Y pl 80 g0 98 8 sl IS 13] Led o) 899iS Ly (5.7) dnajylgs puiad
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)] Gl o ol o 6.0y = 8¥2h = @X 501 e et sllac] e

DHg(hlth) — gxl.xz — h1X2 — h2X1
G 501 0 2815 2t os DHg (hy, h3) i o s ) s oneal] 0 01 s i35 DDH alecs o

ERPY gy
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Jog,n
Mad 548 "5 Sl sl o) el 131 wlaylgidl Gl ol @ Tapass i say bl jamill Llis! Jba Sy
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5.6

coe @Y MOd N = @ Ll clisy saal g o) Fermat (5.2) ig,las plaseisls jand] Kis 5 Fermat dy b ploi
adgl sl ol saall oo N

Ol « diimie 0,585 dyylaill 8 Jgl saall IS 131 & simey ¢ Laid sl slowily Jes3 Fermat &yl oY bl Sl 13n oS
Gyl dmo i 341 sadll ol b messlly L Jo) saall ol Ldis e MW Wi Lkl oSS
341=11.31 CSje sas)l o )| P,1_«J|&¢.2:‘341 mod 341 = 2
slas¥l e sae sl pgd 0S5 " St suall &gl e sasel) Fermat & ks pladeisl oSy 66 S3 e o)) e
e o o6 0] o el LY 353 1311 08 e @1 MO N = @5 Lisl5 Ag, By, A3, veve Gnmad)
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las¥lddgl )LasY Fermat & )l aluasein] 448 =o45 (5.8) dajylgs

.witness of composite .Syl e snlgd L3 oo aiNmod N = Aj LYl 3ad JI Aj slas¥l Bya

e aals s g¥g &5 slasl » Gus « Carmichael numbers slasb Gypas g ¢ &[SI &Gy ylal) a3 oye 83 slael s

Algorithm (5.8): Fermat primality test

Input: N: number to be tested, t: test parameter
Output: Decision: N is prime or composite
fori=1tot:

ae<{2,..,N=-2}
if a¥ ! mod N # 1 then return "Composite"

return "may be Prime"

A o Masm mod 561 = a Ly gi= 561=3.11.17 sasll 23 s Jla
il 5y90r) s3a)] &g) a) Fermat &,k ¢y (981 Ly J) zlioss 13) . dumlise jui o 33Lad] slas¥l s ] e o3
(Ll

ALY UV amd lajylei el sl ass ) Miller-Rabin dueylgi oymins Sgus Juadll lin 3 Miller-Rabin duaj,ly-

536 Qe N = 1 = 2Kq Ul N 2 3 i go 55 536 sl 05 yead) o ls Miller-Rabin dyeiylgs setad
(3 038 I Wlogy g hall o K ssall 136 apes ol 29550 98 N = 1ol jlast K > 05 608

Jyasdl oles s Mille-Rabin e, s dapal 53 s 3 g5l sanl) s e &3 24 wpeds sis ¢ Jio| s e
Sy sasll S s Bagas aalp s

LQ».A ¢ Bympa ua‘ep- ujyl RS

sse(@modp)? =1 5a°modp =1 (56 P e jaol mono corss s3e Ay Jgl sae P 55 loake -
amodp=—-1lgamodp =1 b L. buxo

sl L) 55 Loz K > 05 s one @ s P — 1 = 2Kq Usiadl asip = 3 gl s ol ¥ ol -
oW oyl sl iy @ € {1, .0, P — 1}

a9 =1modp
Al slas! o1
k-1
—1mod p ys..a9,a%%,a%d, ...,a%" 4
Fermat iy, I 1sbicusl &gl 030 iy oSazg 22 4 = —1mod p o) cuow] = J = K su6 5929 S 5ag
k
S e Bl ol gm ke aP’modp=a®9modp=1 o a5 I
k
1ida%mod p,a29,a%q, ...,a% 9w
:@mgﬁ@lﬂ\&:ﬂbﬂ»‘clﬂm‘&ulo@1 &H)SQAMIEJMJS&‘J&DY
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2
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~_1ésww‘féw»‘w&umb«ﬁmgsﬁﬁwlma.lggh«g@foi@l&”sdngUM,\,l 2
Wyl o131 N saall ol ¢ o Los iz @

1 $gbu kol 3 s Sl o6 O

1 gglew Ahaldl 5 53 poliallaol 4l gl O
1SS st 13 (ol Gl soany ol3¥1) 1/4 5l daylasd! as il ol m Ll Gy bysdl s ol sY e

(1/8)" o 51 555 1) 2luio s Giliied iy byl st a3
.4 gY1 slas¥! amd) Miller-Rabin déy,b Los 4 ,b (5.9) dusjylg5l éay .

Algorithm (5.9): Miller-Rabin primality test
Input: N: number to be tested, t: test parameter
Output: Decision: N is prime or composite
Let N — 1 = 2Xq, qis odd
forj=1tot:
a<{1,..,N=-1}
a=a%modN
ifa = 1 mod N then return "prime"
fori=0tok —1:
ifa = —1 mod N then return "prime"
else a = a2 mod N
end

end

return "composite”

=1 w¥glmadl s puscins Miller-Rabin dnejy)ss- plascisls (553 LS 3L 3o 585) ¥ ol J31 561 saall 65 ,Lxs¥ (5.17) ke
N eww.(n —1) = 560 = 24(35) = 2Kq wsssa = 2 s,
235mod 561 = 263
2235 = 2632 mod 561 = 166
2435 = 1662 mod 561 = 67
2835 = 672 mod 561 = 1

Miller-Rabin iyej,ls> 5 anls 58 2 06 13) c-1 cd o 231 3 slas¥ Loy «-1¥5 1 o 50 23°mod 561 sy saal
S a8 g8 561 o) e

sN = 172947529 s« 5 Jw 35W «(5.18) Jke

N —1=172947528 = 23.21618441
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olagd = 17 44> Miller-Rabin  g.las

1721618441 mod 172947529 = 1

@M@ = 3 Yot Sl e als 17 aa¥ 13

321618441 mod 172947529 = —1
O 928 By @ = 23 Sal ¢ g dad gy s oS5« Jol 55 08 N ssll o) s lais L anls €555 Lyl 3 S8 elliyg
2321618441 mod 172947529 = 40063806

23221618441 ;0 172947529 = 2257065
23421618441 ;mod 172947529 = 1

gy aldoss Jgd! (s d oS5 « Carmichael s g0 N (s dind] 3. S50 505 90 N ()50 ol 3823 (8 Ui

Suall Johow byl 5.7
cadalgs JIsaall Judowtd luasylgsdl (e sanll pagla o3 °
Elliptic curve ¢« Number field sieve « Quadratic sieve wlujylgs » 8puS slasl Joi I iliajylgsd] LSty el e @

trial dujylg> 2SWLg < Pollard P — 1 dujylg> < Pollard’s tho dwjyles Jia 551 8y500m luaylgs> Jla factoring
.division

.g:}o»ng#&‘Nc@l O oyl g .

p=< lVNJpmly»lgﬁJf:xp:wl\;\aolsdgébx\% o

dlalgs vl sled V N oo 81 A Lpsyall slasdl e oy ol trial division duwjylesd 255 Gl JWLy @

padeins W51 S saall 550 basie Sy ¢ saall Jalow) Ugine iyl amd Luspylgsd! oda ol N <102 (0S5 lasie o
adsl olagylgs

1< e N=1n1.n; S0l b plele & oo ol gl Lelsall guar a2 o) b cosall Julos s o
Sl s 355 B Jadll 1ia 319, N < N

Pollard p — 1 éwyyl» 5.7.1

S slasl o s A olajplssl bl a yiad @

Bound sy B 51 o sisg adilos Gl I N ol (s,dll sasall o deisdl s e @

Ui slasl P 1 Ualss 0555 o) byts « P N s o P Js¥! Jalall bl s doaylgid) sin Joss @

4 = N/P Gk s Ustms q SWI Jolal riny @

ol s oals ‘_;..Jl (5.2) Fermat &,k s duajylgsdl oo spias @

a’"Imodp=1

2P mod p = 1 o6 Jwi,
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(P—DIBlusl oo pwp — 1ol

.amod N = 2B mod N 5.0l e dpyls] Joms @
a=2%"modp Jisptia PNyl o

28 modp=(2°P H'modp=1modp (p—1)|Bl s/t
pla—1p3

e Pld ol J 35PN Ly o

d=gcd(a—1,N)

¥l Jalall g0 d e

Algorithm (5.10): Pollard p — 1 Factoring
Input: N: number to be factored, B: bound
Output: factor d
a=2
forj = 2toB:

a=a modN

d =gcd(a—1,N)

ifl<d<N:

return d

return "failure"

como 336 Jolod Pollard P — 1 iaylg Jos (5.11) dnjylsidl g

A Jla Y1 pos

) ¥ s 5 8€A (2% — 1,N) (e Tas N = 13927189 512l Julowd Pollard p-1 Luajylgs paseins 5.19) Jko
1) a2 « HeSagl) S|

2% — 1 mod 13927189 = 13867883, gcd(2* — 1,13927189) = 1
21% — 1 mod 13927189 = 5129508, gcd(21*" — 1,13927189) = 1
21 — 1 mod 13927189 = 4405233, gcd(2'" — 1,13927189) = 1
212! — 1 mod 13927189 = 6680550, gcd(21?' — 1,13927189) = 1
213" — 1 mod 13927189 = 6161077, gcd (21" — 1,13927189) = 1
21% — 1 mod 13927189 = 879290, gcd(2'* — 1,13927189)
= 3823
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bl Al
Nosatp = 3823 Jg¥l Jeladl sy ¥ ]
6&;51 sas gb Jaladllia @
Jolsaslal o = N/p = 13927189/3823 = 3643 0 231 Llally o
P—1=3822 = 550 Jalss J J=P =1 o) g0 JuJl o 3 sl 14! Jax g3l o) o
2.3.72.13.

S1slasl 31 e pais

bae N = 168441398857 s :(5.20)

252 — 1 mod N = 67210629098, gcd(2'* — 1,N) = 1

253 — 1 mod N = 8182353513, gcd(2°% — 1,N) = 350437
ol La>Y 480661 o > Jalally N saall p = 350437 Jo¥) alall e Joami 253 — 1 aliiasl sie 3]

p—1= 350436 = 22.3.19.29.53

byl i o) o 5 <P &dg¥1 slas¥l 6 PollardP-1 dueylgs dlawlyy N ssall Ludo Jlas Cood) &) S5 ol o @
gl Jalge S Jo¥ @ — 1gp — 1 o U5 o s
[ ]

.trial division &wj,le> e &f“" 5950y sl \/N oo dg 8 B dand (4555 Laniis
el gyl Slejylgs 5.8

206) 13y Y E(8)s 8 € G sl Lusd oS « G syl Lusd oS 2 JWI ISl ghainl wigy iUl slonyl s o i
g¥ = ymod q Xyl g s (g) (ol

S Jyand! oo e 82 .87 081 ) prer Sl sy X b dbjea) brute-force darles Jstol oo @
y =g

0> 0(1) 525,0(q) S glos @ all ein ol 2l s O
3 el s sless! (1, 81) 21559 o 550 2036 LS55 51l 8 o) pre sl 905 551 oshl s @
X b plapials Y = 87 5ol sloyl o8] A5 0k o)l @ Y e sie @
(Bl 5 5 By X e 35 sl emad J 2l 13055 O(() skl 138 Lz, O
Shanks isyy 5.8.1

.Baby-step/Giant-step dujylg3 Lle-! 059 Shanks o8 e duajylgsd] oda wigh

RSN [PEY ENIFIWEN ST [ BT (L FEATY Y RV PV e S PR PRWERe
: UL X DS salel ok dnyl g3l odn 3

ol M =y Sl e 8F =Y 0B Wiy 0 <ij<m.m = [/q] e x = im +]
g =y(™y
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e Jsanl J o goonl8 7Y ssoll g o o gt Ly = (1,81 21 U2 81T s e sy s
sl g5 (,2) € Ly 5 (,2) € Ly 2 shetal mial e comdl iyl 155 o s Ly = (yg ) e
O(M) 35050 (M) iy dualsxdl JossiM + j Jsczll

el )l slwY Shanks duajyles Jos &,k (5.11) Lwjylgsd| i3

Output: x: g* = ymod q

m =1yl

fori=0tom—1:

forj=0tom—1:

return im + j mod q

Algorithm (5.11): Shanks algorithm

Input: Group G, generater g, group order , integer y

compute g' and store (i, g™) in L,

Sort L, according to the second coordinate

compute g~ and store (j,yg ™) in L,
Sort L, according to the second coordinate.

Find (i,z) € L, and (j, ) € L,

*
'ZSO9

505 31083525 Gl iy Lol o581 1(5.22) ke

m = [V808| = 29,.y = 525.g = 3.q = 808 b sy Jsl s 52809 o). Y @
£22mod809 = 99w o
Ly 2l e Jad (1,991:1 = 0...28) a5l tll gl s

Loy il e Jyand (j, 525 x (3') " mod 809) =0 0,28 15, il i @
Ly 5 (19,644) Ly s (10,644) 2el yoiall s pisldl 5o @
(im +j) = (10 X 29 + 19 mod 808 = 309 s 115¥ psss s @

sl osle o sall o slall Gy 1 IS5 el dadla

3209

2021-2020

mod 808 = 525 i Jol dno o SWI Sy @
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